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BRERME

(1) WEHEICHRDHIE

B 4 FR29FE | FRHIFE | FMTFE | SFM2FE | SH2FE | FEXt
EE « EE « EE 7 HE 7 EE 4 1—7
BERZLEEDQ 100.0% 100.0% 100.0% 100.0% 100.0% %
EFRZLEE AC 98.9% 97.2% 98.4% 98.1% 91.5% A6.6%
BERSENEFINIELLE 67.0% 68.5% 63.9% 64.2% 66.4% 2.2%
(2) BEBHIBIZRIHE
B 4 FR29FE | FRHIFE | RMTFE | SFM2FE | SF2FE | FtExt
EE « EE « EE 4 E 7 =g 4 1—7
MEENEEINIE L 11.4% 11.7% 13.2% 13.6% 13.5% A0.1%
(3) IRARERICZRIEUE
B 4 FR29FE | FRHIFE | FMTFE | SH2FE | SH2FE | FtExXt
EE 4 EE 4 EE 4 iE 7 EE 4 1—=7
THHYNKBEH 150 A 142\ 140 A 151X 130 A A21A
EEPPNGTE5 68 A 64N 64 A 69A 59 A A10A
R R FI| F 3 79.07% 74.07% 74.42% 80.23% 68.30% A11.93%
T 7ERE B 8 (—HRIERE) 17.08 17.08 16.4H 16.08 1478 A1.3H
EEIANLYZEINA (44 F) 7,732M 8,363 8511H 7,900 9,548 1,648M
BEIANLYZEIA (AR 30,326 31,408 30,408 31,400M 34,4461 3,046
(4) EERMEEOHERIZRAHIE
K 4 FR29FE | FRHIFE | FMTFE | SH2FE | SH2FE | FtExXt
FE 1 EE 1 e HE 7 FE 1 1—7
A3 14474 13144 123944 13004 10034 A29744
(5) BEBEEDIN BHETE) =Pl
K4 FR29FE | FRHIOFE | FMTFE | SH2FE | SH2FE | FtExXt
EE 1 FE 1 e HE 7 e 1—7
BEINE D=A+B 1,095 1,091 1,092 1,098 1,438 340
EEINE A 1,082 1,060 1,073 1,072 1,097 25
AR Ea 745 723 712 713 772 59
AlRZEBH 365H 365H 366H 365H 365H =|
SRR 86K 86K 86K 86FK 86K R
1THHYEFEHN) 68 A 64 A\ 64 A 69 A 59 A A10N
(JREEFI ) 79.07% 74.07% 74.42% 80.23% 68.60% A11.63%
EEBEMm(M) 30,326 31,408 30,408M 31,400M 34,4461 3,046
EINET 289 295 316 315 295 A 20
SREZEBE 264H 264H 265H 265H 264H A1H
EEDLE:ES:(ON) 150 A 142 A 140 A 151N 131N A20 A
EEEMm(M) 7,732H 8,363M 8,511H 7,900 9,548 1,648M
ERE%Ec 10 8 8 8 9 1
Z DD EZEINEE 38 34 37 36 21 A 15
EEsNIE B 13 31 19 26 341 315
F 5 E AQC+D+E] 1,095 1,091 1,092 1,098 1,202 104
EZEMR Cletf+gth) 1,094 1,090 1,091 1,093 1,199 106
AEE e 725 726 686 688 728 40
|EZn s 67.01% 68.49% 63.93% 64.18% 66.36% 2.18%
MEEf 123 124 142 146 148 2
|Ezn st = 11.37% 11.70% 13.23% 13.62% 13.49% A0.13%
ZOMBRE (ETEEAELET) 240 236 259 255 285 30
|Ezn st = 22.18% 22.26% 24.14% 23.79% 25.98% 2.19%
FEEN - EEREES h 6 4 4 4 38 34
EXNER D 1 1 1 5 1 A4
%@ﬂﬂ@%ﬁi E 0 0 0 0 2 2
b sk — 0 0 0 0 236 236
“ E:serrsxmntuxx. 0 0 0 0 0 0
% ERERRSIAEA ] 0 0 0 0 0 0
IEEEEEAES® k(glZitE) 28 28 28 28 56 28




